Examlet 2b Foundations of Advanced Math 2/23/07

1. a) If 4 and B are sets, state the definition of 4 U B.
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b) Let C= {1,233} and D = {3,4,5}. Whatis Cn D?
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¢) Let £=[1,5] and F = [3,8]. Whatis E — F?
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2. a) Suppose Ay=[1/n, n + 3] foralln € N. Whatis | J 4, ?
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b) Let A4,=[1/n, n+ 3] forall n € N as in part a. Whatis [ ] 4, ?
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c)Let B={a, b, c} and C= {1,2}. Whatis B x C?
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3. a) Prove or give a counterexample: If a, b, c,d € R, witha<band c<d,thena+c<b+d.
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b) Prove or give a counterexample: If a, b, c,d € R, witha<bandc<d,thena—-c<b—d.
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4. Let {4, |i € I} be an indexed family of sets, and let B be any set, all subsets of some universal

set. Show that BUUA[. =U(BUAE).
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5. Let 4, B, C, and D be sets. Show thatif4< Bn C,then4d —D < B.
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